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BGGCT-131 : PHYSICAL GEOGRAPHY 

Time : 3 Hours     Maximum Marks : 100 

Note : Attempt all questions. Marks are indicated 

against each question. 

1. Attempt any five of the following questions : 

5×4=20 

(i)  Differentiate between terrestrial planets 

and outer planets. 

(ii)  Define lithosphere and state its 

relevance. 

(iii)  Explain the terms ‘frost action’ and 

‘exfoliation’ related to weathering. 
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(iv)  Define the concept of cycle of erosion. 

(v)  Discuss six sub-divisions of climatology as 

identified by Ayoade in 2014. 

(vi)  Differentiate between latitudinal and 

altitudinal distribution of water vapour. 

(vii)  Explain the significance of climatic 

classification. 

(viii) Differentiate between movement of water 

from surface to air and air to surface in a 

hydrological cycle. 

2. Explain the gaseous concept of Kant and 

Nebular hypothesis of Laplace. Briefly 

highlight the major differences between the 

two.     15 

Or 

Give a detailed description of origin and 

classification of rocks.  
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3. Explain in detail the Plate Tectonic Theory. 

Illustrate your answer with suitable diagrams.  

15 
Or 

What is volcano ? Explain the different types of 

volcanoes. 

4. What is insolation ? Describe the factors that 

affect the insolation. 15 

Or 

Describe the basic features of any two major 

oceans. Illustrate your answer with a suitable 

diagram. 

5. What is salinity ? Explain the horizontal and 

vertical distribution of salinity in the oceans. 15 

Or 

What is tide ? Explain the four theories of 

origin of tides with the help of suitable 

diagrams. 
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6. Answer any two of the following questions in 

about 600 words each : 2×10=20 

(i) Explain Big-Bang hypothesis and Cepheid 

hypothesis. 

(ii) Differentiate between the terms ‘Flows’ 

and ‘Earth flow’ related to the phenomena 

of mass wasting. 

(iii) What is Coriolis force ? Illustrate your 

answer with a suitable diagram. 

(iv) Describe hypsographic curve. Illustrate 

your answer with a suitable diagram. 
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ch- ,l&lh- (lkekU;) 

(ch- ,l&lh- th-@ch- ,l- lh- ,e-)  

l=kkar ijh{kk  

fnlEcj] 2024 
ch-th-th-lh-Vh--131 % HkkSfrd Hkwxksy 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % lHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds vad 
mlds lkeus bafxr gSaA 

1- fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj nhft, % 

5×4=20 

(i)  ikfFkZfod xzg vkSj cká xzgksa esa vUrj dhft,A 

(ii)  LFkyeaMy dks ifjHkkf"kr dhft, vkSj bldh 

izklafxdrk crkb,A 

(iii)  vi{k;.k ls lEcfU/r ^rq"kkj fØ;k* vkSj 

^vii=k.k* 'kCnksa dh O;k[;k dhft,A 

(iv)  vijnu pØ dh ladYiuk dks ifjHkkf"kr 

dhft,A 



 [ 6 ] BGGCT–131 

B–1410/BGGCT–131   

(v)  2014 esa vk;ksMs }kjk igpkus x, tyok;q 

foKku ds N% mi&izHkkxksa dh ppkZ dhft,A 

(vi)  tyok"i dk Å¡pkbZ ds vuqlkj vkSj v{kka'kh; 

forj.k esa vUrj dhft,A 

(vii)  tyok;q oxhZdj.k ds egÙo dh O;k[;k 

dhft,A 

(viii) typØ esa lrg ls ok;qeaMy vkSj ok;qeaMy ls 

lrg dh vksj ty ds lapyu esa vUrj 

dhft,A 

2- dk.V dh xSlh; ifjdYiuk vkSj ykIykl dh 

fugkfjdk ifjdYiuk dh O;k[;k dhft,A nksuksa ds chp 

eq[; vUrjksa ij la{ksi esa izdk'k Mkfy,A 15 

vFkok 

'kSyksa dh mRifÙk ,oa oxhZdj.k dk foLr`r fooj.k 

nhft,A 

3- IysV foorZfudh fl¼kUr dks foLrkj ls le>kb,A 

vius mÙkj dks mi;qDr vkjs[kksa }kjk Li"V dhft,A 15 
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vFkok 

Tokykeq[kh D;k gS \ fofHkUu izdkj ds Tokykeqf[k;ksa 

dh O;k[;k dhft,A 

4- lw;kZri D;k gS \ lw;kZri dks izHkkfor djus okys 

dkjdksa dk o.kZu dhft,A 15 

vFkok 

fdUgha nks izeq[k egklkxjksa dh ewyHkwr fo'ks"krkvksa dk 

o.kZu dhft,A vius mÙkj dks mi;qDr vkjs[kksa }kjk 

Li"V dhft,A 

5- yo.krk D;k gS \ egklkxjksa esa yo.krk ds {kSfrt vkSj 

mèokZ/j forj.k dh O;k[;k dhft,A 15 

vFkok 

Tokj D;k gS \ Tokj dh mRifÙk ds pkj fl¼kUrksa dks 

mi;qDr fp=kksa dh lgk;rk ls le>kb,A 

6- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj (izR;sd) 

yxHkx 600 'kCnksa esa nhft, % 2×10¾20 

(i) fcx&cSax ifjdYiuk vkSj lhiQhM ifjdYiuk dh 

O;k[;k dhft,A 
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(ii) ^izokg* vkSj ^e`nk izokg* 'kCnksa ds chp vUrj 

dhft, tks o`gr~ {kj.k dh ?kVuk ls lEcfU/r gSaA 

(iii) dksfjvksfyl cy D;k gS \ mi;qDr vkjs[k dh 

lgk;rk ls vius mÙkj dh O;k[;k dhft,A 

(iv) mPprkn'khZ oØ (hypsographic curve) D;k  

gS \ mi;qDr vkjs[k ds lkFk vius mÙkj dk 

o.kZu dhft,A 
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